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HET1TIEGT H39T 1 S TIaeH] & 91T 3R 377 G&d] & 9ic Hilag
(i) 39 5v7-97 4 38 F97 & | @I FT SHHaTH & |

(i) TEY¥-97 Qi @USl 7 [QAyif5a 8 — &, @, W, 90a & /

(iii) @UE & § 7 qeql 18 18 T Fglasedid (MCQ) ol Jv7 &&q1 19 T 20
SIfIFHYT TT T TERT 1 3% F J97 3 |

(iv) @U@ H ¥97 g&I121 @ 25 7% 3717 TG-FH1T (VSA) JPR 3 2 37H & J97 & |
(v) TUE T H ¥9T G&IT 26 T 31 7% TY-FTH1T (SA) JHR & 3 37 & Fo7 & |
(vi) TS T F 97 G&I1 32 @ 35 T G-3RI (LA) IR & 5 3H & 97 8 |

(vii) U & 4 Y97 G&JT 36 @ 38 Tb JHU 37eTT7 ERT 4 37H] & J97 & | Icds
JHIT 37eTT 7 STaRF [dhcqd 2 371 & J97 8 1297 77 & |

(viii) ¥97-97 § GHY [dHeq 787 137 731 8 | JEfT, @vS @ & 2 Yul H, @US 7 & 2 ¥l
4, @8 g &2 Yo 4 a91 @S & & 3 Yo7 B IaRF ldhcq &1 JaerT 1731 77

g/

(ix) & STTvIH &1 L= Pl G9I5T | gl avTH & 1 = % g, atq F=reT
7 13971 T 81 |
(x)  Dopaie & ITINT a8 |

@usg <h

39 @I H Fglascdid 397 (MCQ) 8, 574 Jcde J97 1 37 %7 & | 20x1=20
1. 12 cm 39 9101 T 99 % T BSI@UE @1 &F%d 601 cm? B | 39 Beu@vs

% <hgl¥ IV 6T AT 3

(A)  120° B) 6°

(C) 75° (D)  150°

2. A ST TGN TER GATH & | TTH T Tsh W1 1 THHUT 5x — 3y =2 & | I
TE W 1 GHIRT B Eehdl B

(A) —-15x-9y=5 (B) 15x+9y=5
(C) 9x-15y=6 (D) -15x+9y=5
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General Instructions :

Read the following instructions very carefully and strictly follow them :

()
(ii)
(ii1)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

: : 22 : :
Draw neat diagrams wherever required. Take © = 3 wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises Multiple Choice Questions (MCQs) of 1 mark each.  20x1=20

1.

The area of the sector of a circle of radius 12 cm is 607 cm2. The central
angle of this sector is :

(A)  120° (B) 6°

(C) 75° (D) 150°

Two lines are given to be parallel. The equation of one of these lines is
5x — 3y = 2. The equation of the second line can be :

(A) —-15x-9y=5 (B) 15x+9y=5

(C) 9x-15y=6 (D) -—-15x+9y=5

14-30/4/3 P.T.O.
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3. T ¥ foreft o, w AR 1 oM I?ﬁ"cfioué sgh! HATS o SO Bl 8 |t
39 9T g 1 AT B

(A) 30° (B) 45°
(C) 60° (D) 90°
4. Ngs afimw gH y =0 qA y = — 7 HI/®
(A) UH TH EA B (B) W TAa

(C) NG ®9 & 3 8 & (D) I3 g 41 8

5. 542 cm BrsA1 A 99 o TG SH A 1 TR @
(A) 50 cm? (B) 100 cm?
(C) 25 cm? (D) 200 cm?

6. 4 T Bl H, g A W IR WY HE A I gl H Th IS TR
QR ? | fog A W @i T Ti-@ QR &t P W et 2 | If AP = 42 em
2, A QR & &&E B :

n

~
.

(A) 42cm B) 21cm
(C) 84cm (D) 6:3cm

7. @ T IWHfd H, AB T AC TH Jd W T T TRIA@N 7 | AR
Z ABC =42° 7%, @ ~ BAC ! H19 3 :
B

(A 96° (B) 42°
(C) 106° (D) 86°
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3. At some time of the day, the length of the shadow of a tower is equal to
its height. Then, the Sun’s altitude at that time is :

(A 30° (B) 45°
(C) 60° (D)  90°
4, The pair of linear equations y = 0 and y = — 7 have
(A) exactly one solution (B) two solutions
(C) infinitely many solutions (D)  no solution
5. The area of the square inscribed in a circle of radius 5v/2 cm is :
(A) 50 cm? (B) 100 cm?
(C)  25cm? (D) 200 cm?
6. In the given figure, QR is a common tangent to the two given circles
touching externally at A. The tangent at A meets QR at P. If AP = 4-2 cm,
then the length of QR is :

~
.

n

(A) 42cm B) 21cm
(C) 84cm (D) 6:3cm

7. In the given figure, AB and AC are tangents to the circle. If £ ABC = 42°,
then the measure of Z BAC is:

B

(A  96° (B) 42°
(C) 106° (D) 86°

14-30/4/3 P.T.O.
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8. Y9 ‘@’ A g TehEHM 3IF AT ol TohR H TehRT TR T@T T | 38 YK

T TFTH T T IS SR B
(A)  6a2 (B)
(C) b5a? (D)

10a2

492

9. QI IS 65 9T 104 1 4.9, (HCF) 13 2 | Ife 65 dAT 104 I .49.

(LCM) 40x &, @l x T A B :

(A)
()

5

40

(B)

(D)

13

8

10 frAt o E s foiq, Ak P(E)+ P(E) =q 8, @ g2 -4 ST A B :

(A)
()

-3

5

(B)

(D)

3

-5

11. T% AABCH,DE || BC g (ST foh o1repfa # gurten T ) | A€ AD = 4 cm,
AB=9 cmddT AC = 13{50n1§i ﬁﬁ]ﬂCﬁdﬁ”@ﬁﬂg'@:

(A)
()

6 cm

9cm

(B)

(D)

7-5 cm

57 cm

12. ¥fc T 9598 p(x) = x2 — 5x + 6 B, dl p(1) + p(4) I AF & :

(A)
()

14-30/4/3
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(B)

(D)
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Two identical solid cubes of side ‘@’ are joined end-to-end. The total
surface area of the resulting cuboid is :

(A) 6a2 (B) 10a2

(C) 5aZ (D) 4a2

The HCF of two numbers 65 and 104 is 13. If LCM of 65 and 104 is 40x,
then the value of x is :

A) 5 (B) 13

(C) 40 (D) 8

For an event E, if P(E) + P(E) = q, then the value of g% -4 is:
A -3 B) 3

C 5 (D) -5

In A ABC, DE || BC (as shown in the figure). If AD = 4 cm, AB = 9 cm
and AC = 13-5 cm, then the length of EC is :

(A) 6cm (B) 7-5cm

(C) 9cm (D) 5:7cm

If a polynomial p(x) is given by p(x) = x2 — 5x + 6, then the value of
p(1) + p(4)is:

A 0 B 4

€ 2 (D) -4
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13. U Tl Iqdst ABCD & o sfi¥ A(- 2, 3), B(6, 7) @1 C(8, 3) &,  3&ehl
e ¥ D % :

A (O, B) (0,-1)
€ (1,0 (D) (1,0

14. 3fc Tohgl 3TThei o TgoIeh qUT HIEAH 1 HA 24 &, ql b HILAH HN WL

A 12 (B) 24
C) 8 (D) 36

15. <9 G&I ST Ush HHTR IS | 8, 1 IMHA 30 & | SHhl HET IS o1 & 2
A 4 B) 10
(C) 16 D) 8

16. U (19987 & ol Tsh 91 3DTA W 2 § & &A1 3T <hl TTR¥ehdl 3 :

(A) (B)

©) (D)

N[ W
oot Wk

17. 3Ife y =1, feama e py2 + py + 3 =0 I Th &A &, dl p I AH 2 :

A -3 B) 2
3
< - 5 D) -2

18. ewagmmésmzsinzh%;tﬂ%mses%a%

(A  30° (B) 60°

(C) 45° (D) 90°

14-30/4/3
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16.

17.

18.
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The fourth vertex D of a parallelogram ABCD whose three vertices are
A(-2, 3), B(6, 7) and C(8, 3) is :

A (O, B) (©0,-1)
€ (1,0 (D) (1,0

If the difference of mode and median of a data is 24, then the difference of

its median and mean is :
A 12 B 24
(C) 8 (D) 36

Three numbers in A.P. have the sum 30. What is its middle term ?
A 4 B) 10
(C) 16 (D) 8

The probability of throwing a number greater than 2 with a fair die is :

2

(A) (B)

S|jot W

3
1
© 5 (D)

If y = 1 is one of the solutions of the quadratic equation py? + py + 3 = 0,
then the value of p is :

A -3 B 2
3
< - 5 (D) -2

The value of 0 for which 2 sin2 6 = %; 0°<0<90° 1s:

(A 30° (B) 60°
(C) 45° (D)  90°

14-30/4/3 P.T.O.



97 G&IT 19 3K 20 JIFYT TF o MERT F97 8 | @ 97 170 70 & [579 v &)
SYHIT (A) T TR H T% (R) FRT 37f%a 13537 71 8 | 57 3971 & @&l I/ 714 /3¢
77 %131 (A), (B), (C) 3R (D) § & 7% G |
(A) AR (A) 3R Toh (R) GHT Tal & AR T (R), AR (A) i Fal
ST LT 2 |
(B)  3fiehe (A) 31 Gk (R) GHI Hal &, T b (R), AHHA (A) hl €&l
ST TgT w1 2 |
(C) AMheH (A) T& 8, Wrg e (R) TeId & |
(D) 37 (A) A B, T ok (R) T 7 |

19. SYHYT (A): T {W@REUS & HLA-fo9g 39 1: 1 A9 § fqwmia s 2 |
b (R) : fig (- 8, k), f&gati (- 5, 4) 99T (- 2, 3) =l fHeH a1 TETETE
i 1:2 % rgura # fourford e g |

20. 3YHYT(A): AR TH g9 HI IRY 176 cm 7, A1 FHHI AT 28 em 7 |

7% (R) : I I IR = 21 x B
Qs @
37 GUZ T 37fa TG-IRI (VSA) FHR & J97 &, o8 I3 & 2 37 5 | 5x2=10

21. & T3 P H, Th I o G0 TH BT ABC 2 | I AR = 4 cm,
BR=30mH9ﬂAC=1lcm%,?ﬁBCﬁF@'§§ﬂHW|

14-30/4/3 Page 10
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled as Assertion (A) and the other is labelled as
Reason (R). Select the correct answer to these questions from the codes (A), (B),
(C) and (D) as given below.

(A)

(B)

(C)
(D)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : Mid-point of a line segment divides the line segment in

the ratio 1: 1.

Reason (R): The ratio in which the point (-3, k) divides the line

segment joining the points (- 5, 4) and (- 2, 3)is 1: 2.

20. Assertion (A) : If the circumference of a circle is 176 ¢cm, then its radius is

28 cm.

Reason (R): Circumference = 21 X radius of a circle.

SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks

each.

5x2=10

21. In the given figure, A ABC is circumscribing a circle. Find the length of
BC,if AR =4 ¢cm, BR =3 cm and AC = 11 cm.

14-30/4/3
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22, (a) TF W i 205760 ;4sec :-302 tan® 45
sin“ 30° + sin“ 60°

AT
(b) aﬁsin(A—B)=%, cos(A+B)=%; 0<A+B<90°, A>B%: al
ZAHQHZBW%“:_‘N |

23. & s ’Rfd H, A AHK ~ A ABC & | ¢ AK = 8 cm, BC = 3:2 cm @9
HK = 6-4 cm 8, 9 AC <l &1&18 F1d <hIfST |

24. (a) U U e archt g Al @@ 14 em 2 | 5 e O 39 g St &
qd W Ud &% I shifoT |
AT
(b) 42 cm 53 910 g9 I 3 =Y HT AEIE [T@ HINT S I oh hg T
60° ohT SHIVT TN HLdl 7 |

25. o9 =feAl HuE: 9, 12 qAT 15 fHe & a0 W ol & | Il 98 Tk A1y
ST I[® Ll @, Al [ha- THA o S1g 98 GERT Teh 1Y Sl ?

Qug 1

5T GUE 7 TY-FTIT (SA) FHR & T97 &, 574 Jcd% & 3 37% & | 6x3=18

26. (a) < TRl =l Tk T IS T | 9T o Ao B <A1 TilRiekar < @ 2

(i) HH-U-HH T o4

(i) TEAG U

(i)  Iereh-H-31ferh Th ue
HAAT

14-30/4/3 Page 12
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5 cos2 60° + 4 secz 30° — tan2 45°

22. (a) Evaluate : 5 5
sin“ 30° + sin“ 60°

OR
®) If sin(A—B):%, cos(A+B)=%; 0<A+B<90°, A>B:find
/ A and Z B.

23. In the given figure, A AHK ~ A ABC. If AK = 8 cm, BC = 32 cm and
HK = 6-4 cm, then find the length of AC.

24, (a) The minute hand of a clock is 14 cm long. Find the area on the face
of the clock described by the minute hand in 5 minutes.
OR

(b)  Find the length of the arc of a circle which subtends an angle of 60°
at the centre of the circle of radius 42 cm.

25. Three bells toll at intervals of 9, 12 and 15 minutes respectively. If they
start tolling together, after what time will they next toll together ?

SECTION C
This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. (a) Three coins are tossed simultaneously. What is the probability of
getting
(i) at least one head ?
(i)  exactly two tails ?
(iii) at most one tail ?

OR

14-30/4/3 Page 13 P.T.O.
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28.

29.

30.

31.

=3

i

[=4

(b) Tk U H 90 Teah (discs) &, T W 1 ¥ 90 I WA Afera & | afe
WU A ° U forw AigTedr WA ST &, a1 $Eehl STRRdT A

SHIfSu fop 3@ ferr W 3ifeRa Bhft -
(i) <1 37ehl <h! G&AT ST 40 ¥ A B |

(i) 59 WY 98 =1 S 50 9 &1 3 |
(iii) Tk YU o & |

fog =hIfS fo fopell gt o wfora wwTae SIgyS wa=rgy 8 2 |

(a) wEUG 4x2 + 4x — 3 % YA 1T 1Y TAT I qAT FGIG o UM
&9 o "ag 6l Jig HINT |

rerat
(b) aﬁaamﬁagqax2+x—2éswﬁ,a%%+ﬁ H AH T4
(04
1T |

fen w2 f6 V3 U iy mem g, @ fag i 6 2_5*/5 T SINH

T2 |

Tk DETEE o Ak 3T bl Ueh WM H3d 8 91 39 38 W 13t star 2 T
B A Tohad 7 78 ° 9ioq forn g | oo fommeff A &t S 20 T 9= et
B, DEEE =99 & &9 § T 1,500 371 i YsSd &, Seh Tk 34 faeneff B
1, ST 26 fe7 WISH AT 8, T 1,800 37 HH USd & | fad =9 3tk ufdafer

% IS T Hed 14 hiT |

Tag fifve fo \/seczé) + cosec? @ = tan 0 + cot 0.

14-30/4/3 Page 14
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29.

30.

31.
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(b) A box contains 90 discs which are numbered 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears a :
(1) 2-digit number less than 40.
(i1)  number divisible by 5 and greater than 50.

(iii)  a perfect square number.

Prove that the parallelogram circumscribing a circle is a rhombus.

(a) Find the zeroes of the polynomial 4x2 + 4x — 3 and verify the

relationship between zeroes and coefficients of the polynomial.

OR

(b)  If o and P are the zeroes of the polynomial x2 + x — 2, then find the
p

a
value of — + —.
o

Prove that

is an irrational number, given that +/3 is an irrational

number.

A part of monthly hostel charges is fixed and the remaining depends on
the number of days one has taken food in the mess. When a student A
takes food for 20 days, she has to pay ¥ 1,500 as hostel charges while
another student B, who takes food for 26 days, pays ¥ 1,800. Find the
fixed charges and the cost of food.

Prove that \/secz 0 + cosec2 0 =tan O +cot O.
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59 @G § FH-FRIT (LA) IPR & 37 &, 573 Jed% &5 3FH & | 4x5=20

32. fTfaiRad 5o T Higea! o S=1 o o[- oI @< ol AT & | AL ¢feh Siel
T T 36-10 8 | I IRERAl £ Fa hif |

HEEASERCE]

. 20 — 25|25 — 30|30 — 35|35 — 40|40 — 45|45 — 50|50 — 55
(T )
=l <hl G 7 6 9 13 f 5 4

33. () TUH WS 90 km < 3 & fOR 9@ € I«@d g | Al 3whl =
15 km/h 316 BIAl, A1 36 I8 A0 [ § 30 fire &0 @1 | @mel

I qe1 =1 F1d T |

HAAAT

(b) ‘¢ 1 98 UM FId hitvie, forges foru feema gt
(c+1)x2-6(C+1Dx+3(+9=0; c£-1

% A qrdfaeh a0l 99H 8 |

34. (a) UH GHIAQL IGHS ABCD i @8 T3 Y51 AD W foig E 39 Yo 2 T
BE, Y CD %! F W iedl & | guNist b A ABE ~ A CFB.

AT

(b) A ABC %l YS¥ AB, BC T1 HIfeFhT AD HHI: A PQR hi St
PQ, QR @1 Tedwl PM & wHEurt 3 | fag Hifm fe
A ABC ~ A PQR.

35. U SgHIVC WaH % MY § T 8 m S HoH o G a1 U1g & IT&H HIU
SHUSM: 30° TAT 45° 8 | SGHII Wad <Al SHeiTs q1 QH1 Hadl o ot shi gt AT
$||\3Q|

14-30/4/3 Page 16
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SECTION D

rd

This section comprises Long Answer (LA) type questions of 5 marks each.

4x5=20

P.T.O.

32. The following distribution shows the daily pocket allowance of children of
a locality. The mean daily pocket allowance is ¥ 36:10. Find the missing
frequency, f.

Daily pocket o4 5105 _ 30(30 — 35|35 — 40|40 — 45|45 — 50|50 - 55
allowance (in ¥)
Number of
children 7 6 ? 13 f > 4
33. (a) A train travels a distance of 90 km at a constant speed. Had the
speed been 15 km/h more, it would have taken 30 minutes less for
the journey. Find the original speed of the train.
OR
(b)  Find the value of ‘¢’ for which the quadratic equation
(c+1D)x2-6(c+1)x+3(+9)=0; cx-1
has real and equal roots.
34. (a) Eis a point on the side AD produced of a parallelogram ABCD and
BE intersects CD at F. Show that A ABE ~ A CFB.
OR
(b) Sides AB, BC and the median AD of A ABC are respectively
proportional to sides PQ, QR and the median PM of another
A PQR. Prove that A ABC ~ A PQR.

35. The angles of depression of the top and the bottom of a 8 m tall building
from the top of a multi-storeyed building are 30° and 45° respectively.
Find the height of the multi-storeyed building and the distance between
the two buildings.

14-30/4/3
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59 TS H 3 GBI 37eqT STETRT J97 & 578 Jcdeh & 4 37 & | Ixd=12

ThIUT AETA4 - 1

36. ¢S B Th Y= IR HEHh @A 7, &l Sawrft fod §T @S &l @ieH &
o guT/aEnsti/mERE Sl T JEar # AIE Hd & | el ufafsa
JEHR I TIAF TH- o T T (0= @ § ol ©d &, GEemsl 3R
qeferal i gerEd € |
T I B W W 999 $5 gan () fafe s By 8 8 S
Afesh €9 § Teh A.P. S g | I nd T&F W A&AT 20 + 4n 8, d1 Raantsa
i weg & fou faforfaa geat & 39w difse

=

LY
] * &'f
i ‘:H ‘ . 1 [
Ty X il B, ©

()  UEA TH Y HH-E &1 R 2 1

(i) (a) HH-H1 TAE 112 HHTRd 8 ? 2
HAYAT

(b) Y& 10 T T gt Tl 1 A AT 8 2 2

(iii) <hI-H T (n — 2)d TAH W 3 ? 1

14-30/4/3 Page 18



mim
=
[ %4

SECTION E

This section comprises 3 case study based questions of 4 marks each. 3Ix4=12
Case Study -1

36. Treasure Hunt is an exciting and adventurous game where participants
follow a series of clues/mumbers/maps to discover hidden treasures.
Players engage in a thrilling quest, solving puzzles and riddles to unveil

the location of the coveted prize.

While playing a treasure hunt game, some clues (numbers) are hidden in
various spots collectively forming an A.P. If the number on the nt® spot is
20 + 4n, then answer the following questions to help the players in

spotting the clues :

(1) Which number is on first spot ? 1

(i1) (a)  Which spot is numbered as 112 ? 2
OR

(b)  What is the sum of all the numbers on the first 10 spots ? 2

(iii) Which number is on the (n — 2)t® spot ? 1

14-30/4/3 Page 19 P.T.O.
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37. FRYH <gI-Ueh g9 AT ST YU I Sl MRS 41 B | ¥E g9 S8 urar
gffoaa o 7, sed ffgd 9iwor geoi o1 gafea o g o 36 @ & ufid
STeeh SRl o T Ueh fogaa g faehed <HTaT @ |

——

500 mL g4 15 cm x 8 cm x 5 cm TR 3 SHTHHR Jehe H U § 91 I8 g
% Uehe 30 cm x 32 cm x 15 cm % IR e (fesd) 0 W@ 7 |

ITYh & TE SRR W 3aR W ffiiRga gl & 3R N

o N

(i)  oTRR e (fesad) @1 3 3 i |

(i) (a) U TH Uhe T HYUN IEIT &G M HINT |

AT

(b)  Th A (feedl) W foha gu o ohe 311 Gehd B ?

(i) 3Apld H fe@E MY 9 § fohd1 g4 311 Eha & ?
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Case Study - 2

37. Tamper-proof tetra-packed milk guarantees both freshness and security.
This milk ensures uncompromised quality, preserving the nutritional
values within and making it a reliable choice for health-conscious

individuals.

500 mL milk is packed in a cuboidal container of dimensions
15 cm x 8 cm x 5 cm. These milk packets are then packed in cuboidal

cartons of dimensions 30 cm x 32 cm x 15 cm.

Based on the above given information, answer the following questions :

1) Find the volume of the cuboidal carton. 1

(i1) (a) Find the total surface area of a milk packet. 2
OR

(b) How many milk packets can be filled in a carton ? 2

(iii)) How much milk can the cup (as shown in the figure) hold ? 1
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38. UM ! B Y W & A hl SHITEE IR 3Taled 1 foawrerar 9gd Arepiva Ll
off | I8 BHYT Ueh T STaReI-IEh o= &1 T <@dr A7 | 3HfAY 38 UTH TR T
3T Tehe TS I Thd T IE L QAT | THT Toh Tearme == Tz T 2

I W T, fFEfaied st % I G
(i) F a1 G %l fiam ot {@rave 1 qe-fag a6 |
(i) (a) TogaT A Q91 C s = <l gl fohall B 2
T
(b) fagati A T B il fieiM a1l T@m@vg &l 1: 3 & @ A
 3d: fawTSH S 9T foig o fques T I |
(i) foig D = Figmes #an & 2
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Case Study -3
38. Ryan, from a very young age, was fascinated by the twinkling of stars
and the vastness of space. He always dreamt of becoming an astronaut
one day. So he started to sketch his own rocket designs on the graph
sheet. One such design is given below :

Based on the above, answer the following questions :
1) Find the mid-point of the segment joining F and G.
(i) (a) What is the distance between the points A and C ?
OR
(b) Find the coordinates of the point which divides the line
segment joining the points A and B in the ratio 1 : 3
internally.
(iii) What are the coordinates of the point D ?
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